% * @ , é som legger til tre brak
6 00°

StudentName: ExamDate: ExamScore:
4 4 6

— 4+ — 4+ - =
9 6 2

4 6 1
—t+—-+1-=
5 8 3
4 5 6

3 8 7

2 6 2

4 9 7

4 1 3
—+ 1=+ ==
8 6 4
1 1 1

2 2 5

3 4 2
4+ 4+ =
8 8 4

1 6 4
4+ 4+ - =
2 8 8

3 5 2
4+ 4+ =
4 2 7

6 6 3

— 4+ —4+ =
8 9 8

www.snowmath.com


https://www.snowmath.com

37 _ 4L
9 9
113 _,5
6 60
473 137
168 168
61 19
2 42
29 5
IPRRRED)
6 1
_:1_
5 5
11 3
_:1_
8 8
7 3
213
9 _,15
8 28
43 19
24 24

www.snowmath.com

som legger til tre brok

ExamDate: ExamScore:


https://www.snowmath.com

